
SAP ABAP table JJIVV {IS-PAM: Media agent contract (data part)}

JJIVV

VERM [CHAR (10)]

EKORG [CHAR (4)]

VKBUR [CHAR (4)]

VKGRP [CHAR (3)]

STD_PROSL [CHAR (5)]

POOLNR [CHAR (6)]

VGRUP [CHAR (6)]

KTGRV [CHAR (2)]

BEZKP [CHAR (2)]

BEZKB1 [CHAR (2)]

BEZKB2 [CHAR (2)]

KALSK [CHAR (2)]

ABRKP [CHAR (2)]

ABRKB1 [CHAR (2)]

ABRKB2 [CHAR (2)]

BO1SL [CHAR (5)]

BO2SL [CHAR (5)]

ZTERM [CHAR (4)]

WAERS [CUKY (5)]

KURST [CHAR (4)]

GPNR_ZE [CHAR (10)]

TACLGP [CHAR (1)]

JGTGPNR

MANDT [CLNT (3)]

GPNR [CHAR (10)]

 JJIVV-GPNR_ZE = JGTGPNR-GPNR 
0..N

0..N

JJTPO

MANDT [CLNT (3)]

POOLNR [CHAR (6)]

 JJIVV-POOLNR = JJTPO-POOLNR 
0..N

{0,1}

JJVDB_MV_FK

MANDT [CLNT (3)]

GPNR [CHAR (10)]

 JJIVV-VERM = JJVDB_MV_FK-GPNR 
0..N

1

T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]

 JJIVV-EKORG = T024E-EKORG 
0..N

0..N

T052

MANDT [CLNT (3)]

ZTERM [CHAR (4)]

ZTAGG [NUMC (2)]

 JJIVV-ZTERM = T052-ZTERM 
0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 JJIVV-WAERS = TCURC-WAERS 
0..N

0..N

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 JJIVV-KURST = TCURV-KURST 

0..N

0..N
TJH23

MANDT [CLNT (3)]

PRSCHL [CHAR (5)]

 JJIVV-BO1SL = TJH23-PRSCHL 

0..N

{0,1}
 JJIVV-BO2SL = TJH23-PRSCHL 

0..N

{0,1}
 JJIVV-STD_PROSL = TJH23-PRSCHL 0..N

1

TJJ35

MANDT [CLNT (3)]

TATYP [CHAR (4)]

TACLGP [CHAR (1)]

 JJIVV-TACLGP = TJJ35-TACLGP 
0..N1

TJJ81

MANDT [CLNT (3)]

IDENT [CHAR (2)]

 JJIVV-ABRKB1 = TJJ81-IDENT 

0..N

1

 JJIVV-ABRKB2 = TJJ81-IDENT 

0..N

{0,1}

 JJIVV-ABRKP = TJJ81-IDENT 
0..N

0..N

TJJ83

MANDT [CLNT (3)]

BEZ_TYP [CHAR (2)]

BEZKOND [CHAR (2)]

 JJIVV-BEZKB1 = TJJ83-BEZKOND 

0..N

1

 JJIVV-BEZKB2 = TJJ83-BEZKOND 

0..N

{0,1}

 JJIVV-BEZKP = TJJ83-BEZKOND 
0..N

{0,1}

TJJ85

MANDT [CLNT (3)]

KALSK [CHAR (2)]

 JJIVV-KALSK = TJJ85-KALSK 

0..N

0..N

TJJAF

MANDT [CLNT (3)]

KTGRV [CHAR (2)]

 JJIVV-KTGRV = TJJAF-KTGRV 

0..N

1

TJJV1

MANDT [CLNT (3)]

VGRUP [CHAR (6)]

 JJIVV-VGRUP = TJJV1-VGRUP 

0..N

1

TVBUR

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

 JJIVV-VKBUR = TVBUR-VKBUR 

0..N

0..N

TVBVK

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

VKGRP [CHAR (3)]

 JJIVV-VKGRP = TVBVK-VKGRP 

0..N

1


